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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Growth & Structure of Industries
Subject Code: 4MS02GSI1 Branch: B.B.A
Semester: 2 Date: 02/05/2017 Time: 02:00 To 05:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) Inwhich year did first industrial policy come? 1

b) Give full name of DIC. 1

c) Give example of Energy 1

d) What do you mean by industrial sickness? 1

e) Give two example of privatization. 1

f)  What is joint stock enterprise? 1

g) Give example of petroleum products 1

h) State the two factors for selection of location of industry. 1

i)  Explain concept of tiny unit. 1

j)  Give full name of BIFR 1

k) Give ratio of material index 1

I) Give example of public sector industry in India. 1

m) What do you mean by Index of industrial production? 1

n) Give full name of SIDBI 1
Attempt all questions (14)

1 What is Industrialization? Discuss different types of Industry. 07
2 What are the salient features of public sector? 07
Attempt all questions (14)

1 What are the various factors that affect the location of Industrial unit? 07
2 Describe the organizational structure of District Industries Centres. 07
Attempt all questions (14)

1 What are the problems faced by small scale industries? 07
2 Explain the concept of Agglomeration and Deglomeration 07
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Attempt all questions
Write Notes on Split Location and Location Coupling.

Give differences between Public company & Private company.

Attempt all questions
Write notes on: Sources of Industrial finance in India
Explain argument in favor of Privatization.

Attempt all questions
Discuss the objectives of Industrial policy in India.

Explain the importance of energy sector as a basis for industrial growth.

Attempt all questions
Discuss different types of energy.
Suggest suitable remedial measures for Industrial Sickness.
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